

CENTRAL MARKETING AREA

FEDERAL MILK ORDER NO. 32

United States Department of Agriculture

Agricultural Marketing Service Dairy Program

Statistical Uniform Price

October 10, 2025

Released:

Tel.: (913) 495-9300 --- Fax: (913) 888-9207

email: market.administrator@fmmacentral.com website: www.fmmacentral.com

Mailing Address:

PO Box 14650 Shawnee Mission, KS

66285-4650

SEPTEMBER 2025 STATISTICAL UNIFORM PRICE ANNOUNCEMENT

Producer Milk	Percent	Pounds	Minimum Class Price
Class I	29.41	351,735,451	\$21.90
Class II	16.48	197,013,944	17.39
Class III	32.75	391,605,975	17.59
Class IV	21.36	255,450,383	16.17
Total Producer Milk	100.00	1.195.805.753	

Computation of Uniform Price (per cwt @ Jackson County, MO)		Prices and Adjustments		
Producer Price Differential Class III Price (@ 3.5% Butterfat) Statistical Uniform Price (@ 3.5% Butterfat) Statistical Uniform Price (@ Average Pool Component Tests)	\$0.64 <u>\$17.59</u> \$18.23 \$20.52	Butterfat Price Protein Price Other Solids Price Nonfat Solids Price SCC Adj Rate (1,000 cells) Class 1 ESL Adj	\$2.1925 /lb 2.7062 /lb 0.3207 /lb 0.9773 /lb 0.00090 \$0.53 /cwt	

				Class 1 ESL Adj	\$0.53 /cwt
COMPUTA	TION OF PRODUCER PRICE DIFF	ERENTIAL	-		
		Product Pounds	Price per cwt / lb	Component Value	Total Value
Class I	Skim Milk	343,750,472	\$12.54	\$43,106,309.19	
	Butterfat	7,984,979	2.7989	22,349,157.72	
Less:	Location Adjustment to Handlers			(793,558.29)	\$64,661,908.62
Class II	Butterfat	15,627,538	2.1995	34,372,769.81	
	Nonfat Solids	17,187,288	1.1156	19,174,138.49	53,546,908.30
Class III	Butterfat	16,402,448	2.1925	35,962,367.30	
	Protein	12,852,946	2.7062	34,782,642.44	
	Other Solids	22,701,103	0.3207	7,280,243.72	78,025,253.46
Class IV	Butterfat	9,521,922	2.1925	20,876,814.00	
	Nonfat Solids	23,581,996	0.9773	23,046,684.71	43,923,498.71
Total Classi	ified Value				\$240,157,569.09
Add:	Value for 60(f) through 60(j)				318,774.30
	Other Source Receipts	388,893			
	Somatic Cell Adjustment - Classes II,	III and IV			1,077,165.72
Total Pool V	/alue			_	\$241,553,509.11
Less:	Value of Producer Butterfat	49,536,887	2.1925	(108,609,624.81)	
	Value of Producer Protein	39,516,339	2.7062	(106,939,116.59)	
	Value of Producer Other Solids	69,250,729	0.3207	(22,208,708.80)	
	Value of Producer Somatic Cell	217		(1,435,902.61)	(239,193,352.81)
Total PPD V	alue before Adjustments				\$2,360,156.30
Add:	Location Adjustment to Producers				5,036,346.11
	One-half Unobligated Balance - Prod	ucer Settlement Fund			813,888.06
Less:	Producer Settlement Fund - Reserve			_	(554,744.72)
Total Pool	Milk (w/URSP) & PPD Value	1,196,194,646			\$7,655,645.75
	Producer Price Differential		\$0.64		

\$18.23

CENTRAL MARKETING AREA FEDERAL MILK ORDER NO. 32

Payment Schedule

Payment Dates for the Month of:

SEPTEMBER 2025

Payments TO the Producer Settlement Fund DUE by:

October 14, 2025

Payments FROM the Producer Settlement Fund DUE by:

October 15, 2025

Final payments TO a Cooperative Association must be RECEIVED by:

October 16, 2025

Final payments TO Producers must be RECEIVED by:

October 17, 2025

Producer Price Differential and Statistical Uniform Price, by Zone Differential

-	Zone 1/ Differential	Adjustment	Producer Price Differential	Statistical Uniform Price
_		dollars per hu	ndredweight	
As Announced:	3.20	0.00	0.64	18.23
Other Zones:	2.50	(0.70)	(0.06)	17.53
	2.70	(0.50)	0.14	17.73
	2.90	(0.30)	0.34	17.93
	3.10	(0.10)	0.54	18.13
	3.30	0.10	0.74	18.33
	3.60	0.40	1.04	18.63

^{1/} Differentials listed apply to zones included in the Central Marketing Area. Outside of this area, differentials may be above or below this range. Differentials apply on a county basis.

Producer Milk Received by Component Pounds

	<u>Skim</u>	<u>Butterfat</u>	<u>Protein</u>	Other Solids	Nonfat Solids
Producer Milk Receipts			Pounds		
Class I	343,750,472	7,984,979	11,767,172	20,676,563	32,443,735
Class II	181,386,406	15,627,538	6,247,657	10,939,631	17,187,288
Class III	375,203,527	16,402,448	12,852,946	22,701,103	35,554,049
Class IV	245,928,461	9,521,922	8,648,564	14,933,432	23,581,996
Total Producer Milk	1,146,268,866	49,536,887	39,516,339	69,250,729	108,767,068

Selected Pool Statistics

Est Class I Percentages			delected Fooi Statistics	Average test of producer receip	ots:	
Skim	28.00	%		Butterfat	4.14	%
Butterfat	16.00	%		Protein	3.30	%
				Other Solids	5.79	%
				SCC	217	

Administrative Assessment and Marketing Service Deduction

§ 1000.85 - Assessment for order administration \$0.040 per hundredweight

§ 1000.86 - Deduction for marketing services \$0.050 per hundredweight

^{2/} Prices at 3.5 percent butterfat, 2.99 percent protein, and 5.69 percent other solids.

UNITED STATES DEPARTMENT OF AGRICULTURE

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAM

Central Order - Federal Order No. 32 Pool Handler Listing

September 2025

Plant Name	City, State	County	FIPS Code	Loc. Adj. 1/
Pool Distributing Plants - Sec. 1032.7 (a) or (b) or (d)				
Anderson-Erickson Dairy Co	Des Moines, IA	Polk	19153	(\$0.50)
Aurora Organic Dairy	Platteville, CO	Weld	08123	(\$0.70)
Braum, W.H., Inc	Tuttle, OK	Grady	40051	\$0.10
Central Dairy Co	Jefferson City, MO	Cole	29051	\$0.20
Dean Dairy	Le Mars, IA	Plymouth	19149	(\$0.60)
East Side Jersey	O Fallon, IL	St Clair	17163	\$0.40
East Side Jersey	Sioux Falls, SD	Minnehaha	46099	(\$0.60)
Farmers' All Natural Creamery	Wellman, IA	Washington	19183	(\$0.30)
Hiland Dairy Foods Co, LLC	Chandler, OK	Lincoln	40081	\$0.10
Hiland Dairy Foods Co, LLC	Kansas City, MO	Jackson	29095	\$0.00
Hiland Dairy Foods Co, LLC	Norman, OK	Cleveland	40027	\$0.10
Hiland Dairy Foods Co, LLC	Omaha, NE	Douglas	31055	(\$0.50)
Hiland Dairy Foods Co, LLC	Wichita, KS	Sedgwick	20173	(\$0.30)
Jackson Dairy	Hutchinson, KS	Reno	20155	(\$0.30)
Kroger Mountain View Foods	Denver, CO	Denver	08031	(\$0.50)
Meadow Gold	Englewood, CO	Arapahoe	08005	(\$0.50)
Prairie Farms Dairy Inc	Carlinville, IL	Macoupin	17117	\$0.40
Prairie Farms Dairy Inc	Dubuque, IA	Dubuque	19061	(\$0.10)
Prairie Farms Dairy Inc	Granite City, IL	Madison	17119	\$0.40
Prairie Farms Dairy Inc	Olney, IL	Richland	17159	\$0.40
Royal Crest Dairy, Inc	Longmont, CO	Boulder	08013	(\$0.70)
Safeway Stores, Inc	Denver, CO	Denver	08031	(\$0.50)
Pool Supply Plants - Sec. 1032.7 (c)				
Associated Milk Producers Inc	Freeman, SD	Hutchinson	46067	(\$0.60)
Associated Milk Producers Inc	Sanborn, IA	O Brien	19141	(\$0.60)
Central Equity Milk Coop	Fairland, OK	Ottawa	40115	\$0.00
Dairy Farmers Of America Inc	Fort Morgan, CO	Morgan	08087	(\$0.70)
Dairy Farmers Of America Inc	Garden City, KS	Finney	20055	(\$0.70)
Dairy Farmers Of America Inc	Independence, IA	Buchanan	19019	(\$0.30)
Foremost Farms USA	Lancaster, WI	Grant	55043	(\$0.30)
Independent Dairy Producers	Boise City, OK	Cimarron	40025	(\$0.70)
Kalona Farms	Kalona, IA	Washington	19183	(\$0.30)
Prairie Farms Dairy Inc	Carbondale, IL	Jackson	17077	\$0.40
Prairie Farms Dairy Inc	Luana, IA	Clayton	19043	(\$0.30)

Cooperatives as Pool Handlers - Sec. 1000.9 (c)

Associated Milk Producers Inc	New Ulm, MN
Central Equity Milk Cooperative, Inc.	Springfield, MO
Dairy Farmers Of America Inc	Kansas City, KS
FarmFirst Dairy Cooperative	Madison, WI
Foremost Farms USA Cooperative	Middleton, WI
Great Lakes Milk Producers	Mount Vernon, OH
Great Plains Dairymen's Association	Sioux Falls, SD
Independent Dairy Producers	Hilmar, CA
Land O' Lakes Inc.	Arden Hills, MN
National Farmers Organization, Inc.	Ames, IA
Organic Family Farms Cooperative	Santa Fe, NM
Prairie Farms Dairy, Inc	Edwardsville, IL
Rolling Hills Dairy Producers Cooperative	Monroe, WI
Select Milk Producers, Inc.	Artesia, NM